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, Question B A A
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’ [ g Al P ) .(0.48 A)“-:’; or the gollowing ?
N 5 } In the Figure, the Ammeter reads (0-48 ﬂ)-_‘_" T o .
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What 4 Wecall (e LRSSt conmo™
resistors in this electric circuits
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Which resistor is the pottest? e
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What is this type of electric circuits called?(Choose 01¢ only)- e TS
Voltage-divider circuit e i.s-’_*‘ ..Jl \a
Current—divider circuit 2 sl U:
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f wire carries an electric current of (3.50 A)
the figure.

of (1. 60T), as shown in

de of the magnetic force on the wire?
determine the direction of the magnetic force -

The wire is pk

.0 cm) piece 0

nagnetic field

1t is the magnitu
the right-hand rule to
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Question 3 / -
\ gy B coipuast cupmgn it Jand 59 i) Jl;))’éﬂiﬁz:l % 10713 N)
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A stream of doubly jonized 'p'a_l'ti_élé's (missing two electrons and !

-13 ) when it travels at
f(4.1X% 10 oy
charge of two elementary charges)experiences a force 0 ( G agetic Geld B .

avelocity of (3.0 x 10° m/s) ata right angle through uni ! he particles?
What are the magnitude and direction of the magnetic ﬁcl_d_ ac_tmg ont . P ;
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S A LS (36 V) (A adla s O Sl 34 dﬁﬁ.{‘-’"fw Jsaa
-'-'—"' The primary coil of an electric ideal transformer is supplid with
5 effective potential difference of (36 V) ,as shown in the figure.
''''' RS b ol dgaal g (1
What type the transformer shown in the
figure is ?

¢ Jyaall e Alaaf (Say LN E 3 1 (2
What kind of current can be sent through
a transformer ?

¢ g 98l lall A G gl @A ke e (3
What is the potetioal differnce in the secondary coil?
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Question 5 J) gl
mhi.,um_,m. 3 ) il Aty 148 5 501 Jhay (g1 JSAN o Al gal il o Tadina
I ased on the information shown on the figure, that represents a closed
electric circuit, calculate R, ?
N l_z =60

S
AV =18 volt
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Question 6 g
(0. 42T) (uliia Jos /& Lagee (12 m.s™1) 4 (250m) A S 2
(JSA) (B ga h LS (ppdalata puashaliall Jlanall g s el sladl g lud)
5 _ ) ) ?.ﬂu;uiﬁwq.ﬂ‘_gj_gn.uq
gag jal) ;Lﬁld*yd.hf-d‘yu{a,b)&diqi)hmgi-z

-1 jn perpendicular to a magnetic field(0.42T).
field vector are perpendicular to each other

A (25cm) wire moves at (12m.s
The wire, velocity vector, and magnetic

as shown in figure.
the ends of the wire?

1-What is the potential difference between
2-Which end of the wire(a,b) would carry a positive charge during the motion?




